st tbboddboobotugdboobotdd
Juoooddn

5.1 00O

gboboggbboogbobbuooobobbooobboooobobobooobbooon
gbboooodabbood

5.2 OO
5.2.1 0O0OO0OO0OOO0OOOOO

0000000000000 0000o L(A)Dooooooooo

i=n

N L=0 (5.1)

i=1

5.2.2 UJUOOOOOOOOO

0o0o0oooooo0oooooooo00 Q)OO0 (A)DoOoooooooooo
000000 e(V)DOOOODOOO

i=ne i=nt

=1 =1

5.3 0O

D0000000000000100000000000000000000000 200
0000000000 300000000000000

00 Ry; O Ry O 100(Q)0900(Q) 0 Ris 0 Ry 0 1IK(Q)D9K(Q) DO DOO0OO0ODODOO
00 RyOR,OR, 000 R,O0O00D0D000O0D0DO00D0O0DO0DO0ODO0OODO0DOONO
000

0000000000000 00000000000000000000000
00000000000000003000000000
00000000000000000000000000000000000000000

o1



5.3.1 0O0O0OOOOO0O
0000000o0o0ooo
1. 051000000 R,0R,,000000
2. 00R,000R,0000000000

3.00 ED0O0O0O0OO0 (EOP,0P,0P,0P,0P;0P,0P,000000)000000
O0000R,00000 Vi (V)OOOR,,00000 Vp(V)OOOOOO I(A)ODO
0ooo

4. 00Ry0ORyeODODOO0DOOOO0DO0O

Us1: 000010000

E 0000 I 000 K:DOoogd
R 00 P .00 0 g

5.3.2 UOUUOO1000

gobbbouoodooboo
1. 052000000 RuRaOR OO OO Ry OO OODO
2. 00 RpO000 RpDUOD RyUDOO0D0OO R OO DO ODOODOO

3. 00E0P,0P,00000000R,00000 Vi(V)OOO R,00000 Via(V)O
O00R, 00000 Vo (V)OODO Rp00D0D0DO Vyup(V)DDODOO00(A)DODOOD
00000000 KOOODOOOODOOOOO

52



052000010000

E 0000 I 000 K:Ooogd
R 00 P .00 0 od

000000000000
1.052000000 RyyO0RyORyO0000 Ry, 0OODDDO
2. 00R;000RpODORyO000000 R,OOODO0OOD0DN

3. 00E0P,0P,00000000R,00000 Vyy(V)OOOR,,00000 Vio(V)O
O00R, 00000 Vyu(V)OODO Rp0DO0D0D0D0 Vyup(V)DDOOO00(A)DOD0DOO
00000000KOOOOOOOOOO

5.3.3 U4 2000

gboboboodgobood

1. 053000000 RnOROR,UD OO Ree OO OODO

2. 00 Rp000 RDOD0 RyUDOD0DOO R OO OODOOODOO
3. 00 E0 P, 0P, 0000000000 KODOODOOODOO

4 00R,00000 VL(V)OOO RL,OODOO Vp(V)DOOO00(A)DOD0OOO

23



053 0000200000

E:0000 I :000 K : 0000
R:00 P00 0 oo
5.4 [0O0O

gobbuogdgbbboogobbbuooobbbooobboooobboooobbooon
gobobog
gobbbooooobbbooooboboboooooooboood

5.4.1 UOU0O0OOOOOO

0000 Va(V) DO

Vo1 =Vi1+ Via (5.3)
good

D0D0DO0DO0OO0EDDODODOD Ve, OO dgy(%) O

Va1 —

E
dg1 = x 100 (5.4)

gooo

00 |0000000O0 (000000000 (Q)
00 Ry, 0 0
00 Ry 0 0

o4



good |0don |00 (ouoo (obod (gouo joood jooon
E(V) I(A) Ri1(2) | Vii(V) | Ri2(2) | Vio(V) | Vs (V) | ds1(%)
U U U U U U U U
0 0 0 0 0 0 0 0
gooo |0bbdog (oodoo ygobob bbobo (o000 jooob (obobo
5.4.2 UO0O0OO 100000
0000 Ve (V)ODOODOO0 Vea(V) O
Vpr = Vi1 + Viz (5.5)
Vpy = Va1 + Voo (5.6)

goon

O0000D0EOQOOOO VR OOdem(%) 0000000 EO00OQODO Ve OO dpa(%) 0O

Ve — F
dp1 = 21— % 100 (5.7)
Vpy — F
dpy = 22 x 100 (5.8)

goog

RN gogdooddn DDDDDDDDD(Q)
00 Ry U |
00 Ry | ]
OO0 Ry O ]
00 Ry 0 0
o0 |0ddQo |0bood |dogb |obobdo yggboobo jbogg |goodga

E(V) I(A) Rii(2) | Viu(V) | Ra(Q) | Via(V) | Veu(V) | dpi(%)

] [l U ] U ] Ul ]

| ] Ul 0 Ul 0 Ul Ul
godoon (oddno |good (dodgno |joodd yggoo jbogdgog jgood
ddono |oddno |gbood (dddno |joodd yggoo (jbogdgo jgood

E(V) I(A) Ro1(€2) Var (V) Ra2(£2) Voo (V) Vpa(V) dpa (%)

O O O O O O O O

0 U U ] U ] U ]
oo |0dd0o |0dboodg |dogbo |obodg yggbobo jbogg |good

25




5.4.3 UUOO200000

0000 Veg(V)O

Vps = Vi1 + Vg (5.9)
oooo

D0DDDDODOEDDODOD Ve, OO dgy (%) O

dps = Ves =B 100 (5.10)
E
0000
00 |00000000 |[000000000 (Q)
00 Ry 0 O
00 Rys O O
00 Ry O O
00 Rao O O

gooo |0bbdug (oo ygobb (bobod (buodg jooob (oboo
E(V) I(A) Rii(Q) | Viu(V) | Ria(2) | Via(V) | Vps(V) | dps(%)

ooob |bobob (jgboo (obob (bobb obbo (bbob (bobo

5.5 0O

0000000000000 0000ooo0o4(A)(000boooooooooooood
O00300000)000000oooooooogoo

5.6 UL

0510000000 P,000P,0000V,000P,000P,O000 Vo, OODODO
gboog vy, 000 V;OObooboooobooobon

5.7 UULUOUOOU

571 UOUUOOOOO

Us5100 52000053000 000 EO00O0DOODO26000 27.1.2-BO0O0O0OO0O0O
gobbobooodn

26





